1.

o2}t y = x2 + 2x + k9] T T} xET} ¥

Ael7t avZ D o, A4 k] 7L

D -8 Q -7 3 -6

@ -5

T}

L

L

5= Aol

B -4



Y = —)C2 - 2x - 19/] _j_EHﬁOﬂ E]\]oﬂ 1"5}-“‘

T ol y = &2
2] XS y = ax + bt & O, &5 a, b0l ot o + b3 9]
2?7 (Ha#0)



25 a,boll ot T4 y = x%2 —aty = bx7F = A P, QollA
Thdch A4 PO xZE VE+ 1Y W, a+ b9 ZHS 512

@D 2 ® 3 B3 4 @ 5 B 6



TN Ty = ax® +bx+8,y=2x2-3x+2 9 F 1L
200] y = —x+ 6 A W, A4 a, b O] G Y

D a=-1,b=-1 @ a=-1,b=0

@ a=1,b=0 @ a=1,b=-1

® a=0,b=1

ol



F(x) = (3% = 2x +2)(x® = 2x + 3) + 322 - 6x 2] 2|5

D =2 ® -1 3 0 @ 1 6

a8

2

[e]
—

?



Aoy
i mp 1o

gl
o]
]

o

Zo|7}12 91 &}
y e & o,
kol

AT WAF] Dol x 2 ot
2AZe] Yol 7t B & ), ¥

2
A]

ol
59|



@1

@ 0

B 3

@ 2



8. xty=10 L 2+ O] A%gE TE?



ol
fﬂ1

LS
g

m°“

=

v

ot OTAPE7E A o + dkx + 5K -

o ©] AR} p o] Akl & 7

A1%-0]t})

C
=B



10. o 557} 2] 700m & A 7P T 1Y TL 1w 759
2 SRl ek AA) 219 Yolg A2 s vl AAZR
72, A2 ol 5 RE A m A7

D 60m ® 70m 3 80m @ 90m 3B 100m



1200 o] 591

11.

2 Yew 100 B4 o Lob3 2474 H3ic) of

2]

2]

@ 4000

2]

@ 3500

2]

@ 3000

%

® 5000

2

@ 4500



12

. AArOA =
=25
(50¢ — 5£2)m o]q(?m ol HEom
. o] &9 4017}&0} =8 39

= 2] Ao 5 1 %0 =
ol
e

Aol &2z A %
Z ZQI7R? JomFH
2E 7t 5 A

-3

Q725
o o s ot ® 8

Rl
-{Olt



13. &85 f(x) =ax+b, gx) =2 +ex+d7V 5+ A (1, a+b),
(-3, =3a + b) oA B ©l, &= h(x) = g(x) - f(x) 9 HxES

F-afodzt,

Yt
=%



14.

S F(x) = x2 +4x+9, G(x) = x> —=6x + 4, f(x) = x* + ax + b,

cx+d 7F AT F(x) °F G(x) 7F #5:8ke 2| 5= x 250

o g(x) o L x HEZY W, T4 h(x) = f(x) - g(x) 7}
2 4:3HS ZHA| )L x S Fotole),



Z3ko]

1) 2 2]

Fatelet,

= (6+p)x+4p+12(-3<x<

O
=

ojaFetE f(x)
04, pol gk

15.



f(x) = x* +2ax+1 ] FAagho] -8 A o,

®)
Al o
®
A=
©
)



17. %dy—x +1919] & AP o4 y Foll BA A4S Tof A4

x—1 7 Wb 42 Qo @ u PQ o A%:ghe Fotelat
W y=2’+1
P y:x—l




18.

ABCJAB Al dpPE
719 BC,AC ¢ ¥y 4
7}4tﬂ7}9 off, BP o] Zo

cm

1_
Pl
]

I:l

mlm mlo



